

About Us – Noor 33 NOOR 33



Digital Thirty 3 is a multi-million donation helping plan that provides you with two links of the same amount coming from anywhere in the company in within 200 hours. After earning 200% profit, you can earn a huge income by upgrading, sharing, referrals, and building a team. Whether you or your team work in the Ruby Pool or not, you will definitely earn lakhs.

The sooner you upgrade your package one by one, the sooner the company will provide you the link. The more you build a team, the more you will earn a commission of Rs 10,080 per member. You will get 5 lakhs in Ruby pool, 2 lakhs from upgrades, and crores from team level. Starting with just Rs 33, work smartly, join us in the donation plan and earn money every minute of the day.

No one can become rich alone, share ads, sell something, advertise, join a donation plan, because only money earns money, like finance, bank, insurance, trading, share market, crypto current. online digital double 3 you can earn a lot of money by helping someone, you can do good to people around you by getting them to join. Digital Double 3 always with you 24X7. Start joing 33/-only one time life time.











Types of Income



UNLIMITED UPGRADE INCOME

TEAM LEVEL INCOME

RUBY POOL CLUB



UNLIMITED UPGRADE INCOME NOR



					1100.1-
Sr.no	Send help	Provide link	Provide help	Referral	Team level income
1	33	2	66	1	3
2	66	2	132	0	6
3	99	2	198	0	9
4	132	2	264	0	12
5	165	2	330	0	15
6	198	2	396	0	18
7	231	2	492	0	21
8	264	2	528	0	24
9	297	2	594	0	27
× ₁₀	330	2	660	0	30

UNLIMITED UPGRADE INCOME



Sr.no	Send help	Provide link	Provide help	Referral	Team level income
11	495	2	660	0	45
12	660	2	990	0	60
13	990	2	1320	0	90
14	1320	2	1980	0	120
15	1650	2	2640	0	150
16	1980	2	3300	0	180
17	2310	2	3960	0	210
18	2640	2	4620	0	240
19	2970	2	5780	0	270
× ₂₀	3300	2	5940	0	300

UNLIMITED UPGRADE INCOME



Sr.no	Send help	Provide link	Provide help	Referral	Team level income
21	4950	2	9900	0	450
22	6600	2	13200	0	600
23	9900	2	19800	0	900
24	9900	2	19800	0	900
25	9900	2	19800	0	900
26	9900	2	19800	0	900
27	9900	2	19800	0	900
28	9900	2	19800	0	900
29	9900	2	19800	0	900
30	9900	2	19800	0	900

TEAM LEVEL INCOME



Level	In	come	Referral
1	1 st	Level 3	1
2	2 nd	Level 3	1
3	3 rd	Level 3	1
4	4 th	Level 3	1
5	5 th	Level 3	1
6	6 th	Level 3	1
7	7 th	Level 3	1
8	8 th	Level 3	1
9	9 th	Level 3	1
10	10 th	Level 3	1



Power Team level income



Sr.no	Team	Club Income
1	1	10,080/-
2	5	50,400/-
3	10	1,00,800/-
4	50	5,0,4000/-
5	100	10,08,000/-
6	500	50,40,000/-
7	1000	1,00,80,000/-



Power Team 20 Level Income

RUBY POOL CLUB



Sr.no	Ruby Pool	Club Income
1	5	50/-
2	25	250/-
3	125	1250/-
4	625	6250/-
5	3125	31250/-
6	15625	156250/-
7	46875	468750/-



Net Profit:-6,64,050/-

Terms and Conditions



- ✓ LINK PROVIDED MONDAY TO FRIDAY 24X7
- ✓ GETBACK 2 LINK PROVIDED WITHIN 200 HOURS
- ✓ NO ADMIN CHARGE, NO TDS, NO BUY SELL, NO RISK NO LIABILITY, AUTOMATIC WITHDRAWAL MULTIPLE 33/-
- ✓ 1 REFFERAL REQUIRED FOR FIRST WITHDRAWAL
- ✓ 10 REFFERAL REQUIRED FOR RUBY POOL CLUB



